





ગુજરાત માધ્યમિક અને ઉચ્ચતર માધ્યમિક શિક્ષણ બોર્ડ, ગાંધીનગર  
Gujarat Secondary & Higher Secondary  
Education Board, Gandhinagar  
ગુજરાત-ઉચ્ચતર માધ્યમિક પ્રમાણપત્ર પરીક્ષા - 2021  
Statement of Marks - Higher Secondary Certificate Examination - 2021

00057999

વિજ્ઞાન પ્રવાહ SCIENCESTREAM

પરીક્ષાનો માસ અને વર્ષ MONTH & YEAR OF THE EXAM.	બેઠક નંબર SEAT NO.	કેન્દ્ર નંબર CENTRE NUMBER	શાળા ક્રમાંક SCHOOL INDEX NO.	ગ્રુપ GROUP
MAY-2021	B. 179691	080	15.412	B

ઉમેદવારનું નામ  
Candidate's Name  
SHAIKH ARINA MOHMAD CHAMAN

એસ.આઇ.ડી. નંબર  
S.I.D. No. 21V-155412

પત્રક અનુક્રમ નંબર  
SR. NO. OF STATEMENT 655215

વિષયનું નામ કોડ નંબર સાથે NAME OF THE SUBJECT WITH CODE NO.	કુલ ગુણ TOTAL MARKS	પેપર ગુણ + કૃપા ગુણ + કુલ ગુણ MARKS OBTAINED + CONDONATION + TOTAL	પેપર ગુણ શબ્દોમાં MARKS OBTAINED IN WORDS	વિષયક ગ્રાદ SUBJECT WISE GRADE
006 ENGLISH (F.L.)	100	062	ZERO SIX TWO	B2
052 CHEMISTRY	100	046	ZERO FOUR SIX	C2
053 CHEMISTRY PRACT	050	030	ZERO THREE ZERO	C1
054 PHYSICS	100	048	ZERO FOUR EIGHT	C2
055 PHYSICS PRACT	050	030	ZERO THREE ZERO	C1
056 BIOLOGY	100	049	ZERO SIX NINE	B2
057 BIOLOGY PRACT	050	035	ZERO THREE FIVE	B2
331 COMPUTER	100	066	ZERO SIX SIX	B2
332 COMPUTER PRACT	050	040	ZERO FOUR ZERO	B1
THEORY TOTAL ON WHICH GRADE IS CALCULATED:		291	500	

કુલ ગુણ  
TOTAL MARKS 700

પેપર કુલ ગુણ  
OBTAINED MARKS 426

એકદર શ્રેણી  
OVER ALL GRADE C1 ; Dt: 17/07/2021

પેપર ગુણ શબ્દોમાં  
TOTAL MARKS OBTAINED IN WORDS FOUR HUNDRED TWENTY SIX ONLY

શમ મિલકે - વિજ્ઞાન થિયરી PERCENTILE RANK - SCIENCE THEORY	શમ મિલકે - એકદર થિયરી PERCENTILE RANK - OVER ALL THEORY	શમ મિલકે - એકદર PERCENTILE RANK - OVER ALL	પરિણામ RESULT
34.15	35.71	24.65	E G C

અગત્યનું - આ ગુણપત્રમાં કોઈ ફેરફાર સત્તાધિકારી સિવાય કોઈ કેરફાર કરી શકશે નહીં અને જો કરશે તો ગુણપત્ર રદ થશે અને બોર્ડ કાયદેસરના પગલાં લેશે.  
IMPORTANT - Any change in this document except by the issuing authority, will result into cancellation of the statement and shall also invoke imposition of appropriate legal action.



*J. G. Pandya*  
(J. G. Pandya)  
નાયબ નિયામક (પરીક્ષા)/Deputy Director (Exam)

*Areen*  
Self attested

**THE MAHARAJA SAYAJIRAO UNIVERSITY OF BARODA**

Fatehgunj, Vadodara-390002, Gujarat(India)

Statement of Grade for Second Semester of BSC(FCSC)-III [B.Sc. (Family and Community Sciences) (Honors)]

Examination : May-2025

**Name :** Shaikh Arina Mohmad Chaman

**Mother Name :** Sayra

**PRN :** 8022014527

**Seat Number :** 677220 (Fresher)

**Faculty :** Faculty of Family & Community Sciences

**Specialisation :** Human Development and Family Studies

Course Code	Course Name	Credits	Grade Obtained	Grade Points	Earned Gr. Points	Remark
FDN1601I01	Health and Nutrition for Women and Children	2	A	9.00	18.00	E, C
HDF1607C07	Family Dynamics	4	B	8.00	32.00	E, C
HDF1608C08	Application of Research Methods	3	E	5.00	15.00	E, C
HDF1609C09	Educational Psychology	3	C	7.00	21.00	E, C
HDF1610C10	Supervised Practicum across Human Development Settings-II	5	B	8.00	40.00	E, C
HDF1611C11	Orientation to Rural life-Placement	3	B	8.00	24.00	E, C
HDF1612F12	Late Adulthood	2	C	7.00	14.00	E, C
HDF1613F13	Family and Law	3	B	8.00	24.00	E, C
SSBSC(FCSC)-III	Earned CREDIT : 25 EGP : 188.00 SGPA : 7.52		STATUS : Complete		GRADE : B	
FSBSC(FCSC)-III (Seat No. : 577286 - Exam Event : October-2024)	Earned CREDIT : 26 EGP : 150 SGPA : 5.77		STATUS : Complete		GRADE : D	
<b>BSC(FCSC)-I(Seat No : 235683) (Exam Event : May-2023)</b>		<b>Total Credit : 42   Earned Credit : 33</b>	<b>EGP : 207</b>	<b>SGPA : 4.93</b>	<b>Status : ATKT</b>	<b>Grade : E</b>
<b>BSC(FCSC)-II(Seat No : 477276) (Exam Event : May-2024)</b>		<b>Total Credit : 51   Earned Credit : 51</b>	<b>EGP : 318</b>	<b>SGPA : 5.65</b>	<b>Status : Complete</b>	<b>Grade : D</b>
<b>CUMULATIVE FOR CURRENT PART</b>	Percentage : 59.9		Earned Credits : 51		Total EGP : 338	
	CGPA : 5.99		Status : Complete		Grade : D	
<b>FINAL CUMULATIVE</b>	<b>Total Credits : 144   Earned Credits : 135</b>	<b>Total EGP : 863</b>	<b>CGPA : 5.99</b>	<b>Grade : D</b>		

Abbreviations:- IA : Internal Assessment ; UA : University Assessment ; AM : Assessment Method ; Sts : Result Status ; Rmk : Remark/s ; P : Pass ; F : Fail ; AB : Absent ; RR : Result Reserved ; X : Past Appearance ; E : Exempted ; T/ATKT : Allowed to keep Term ; M : Performance Cancelled ; D : Detained ; PNO : Paper Not Opted ; EHB :

*Arina*  
Self attested

**THE MAHARAJA SAYAJIRAO UNIVERSITY OF BARODA**

Fatehgunj, Vadodara-390002, Gujarat (India)

Statement of Grade for Second Semester of BSC(FCSC)-III [B.Sc. (Family and Community Sciences) (Honors)]  
Examination : May-2025

**Name :** Shaikh Arina Mohmad Chaman  
**PRN :** 8022014527  
**Faculty :** Faculty of Family & Community Sciences

**Mother Name :** Sayra  
**Seat Number :** 677220 (Fresher)  
**Specialisation :** Human Development and Family Studies

Course Code	Course Name	Credits	Grade Obtained	Grade Points	Earned Gr. Points	Remark
FDN1601I01	Health and Nutrition for Women and Children	2	A	9.00	18.00	E, C
HDF1607C07	Family Dynamics	4	B	8.00	32.00	E, C
HDF1608C08	Application of Research Methods	3	E	5.00	15.00	E, C
HDF1609C09	Educational Psychology	3	C	7.00	21.00	E, C
HDF1610C10	Supervised Practicum across Human Development Settings-II	5	B	8.00	40.00	E, C
HDF1611C11	Orientation to Rural life-Placement	3	B	8.00	24.00	E, C
HDF1612F12	Late Adulthood	2	C	7.00	14.00	E, C
HDF1613F13	Family and Law	3	B	8.00	24.00	E, C
SSBSC(FCSC)-III	<b>Earned CREDIT : 25 EGP : 188.00 SGPA : 7.52</b>		<b>STATUS : Complete</b>		<b>GRADE : B</b>	
FSBSC(FCSC)-III (Seat No. : 577286 - Exam Event : October-2024)	<b>Earned CREDIT : 26 EGP : 150 SGPA : 5.77</b>		<b>STATUS : Complete</b>		<b>GRADE : D</b>	
<b>BSC(FCSC)-I(Seat No : 235683) (Exam Event : May-2023)</b>		<b>Total Credit : 42   Earned Credit : 33</b>	<b>EGP : 207</b>	<b>SGPA : 4.93</b>	<b>Status : ATKT</b>	<b>Grade : E</b>
<b>BSC(FCSC)-II(Seat No : 477276) (Exam Event : May-2024)</b>		<b>Total Credit : 51   Earned Credit : 51</b>	<b>EGP : 318</b>	<b>SGPA : 5.65</b>	<b>Status : Complete</b>	<b>Grade : D</b>
<b>CUMULATIVE FOR CURRENT PART</b>	<b>Percentage : 59.9</b>		<b>Earned Credits : 51</b>		<b>Total EGP : 338</b>	
	<b>CGPA : 5.99</b>		<b>Status : Complete</b>		<b>Grade : D</b>	
<b>FINAL CUMULATIVE</b>	<b>Total Credits : 144   Earned Credits : 135</b>	<b>Total EGP : 863</b>	<b>CGPA : 5.99</b>	<b>Grade : D</b>		

Abbreviations:- IA : Internal Assessment ; UA : University Assessment ; AM : Assessment Method ; Sts : Result Status ; Rmk : Remark/s ; P : Pass ; F : Fail ; AB : Absent ; RR : Result Reserved ; X : Past Appearance ; E : Exempted ; T/ATKT : Allowed to keep Term ; M : Performance Cancelled ; D : Detained ; PNO : Paper Not Opted ; EHB :

*Arina*  
Self attested